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O Change the voice of the following sentences :

-l'J He takes the lead in summer luxury.

Ans. o
*2.| The frost has wrought a silence. ‘

Ans. = -
3. I He has never done with his delights.

Ans. -

O Join the following sentences :
1, | All birds are faint with the hot sun. They hide in cooling trees. A voice will run. (Join into comply,

Ans.
2. | All birds are faint with hot sun. They hide in cooling trees. (Join into simple)
Ans.

**3:| That is the grasshopper. He takes the lead in summer luxury. (Join into complex)
Ans. —

*4.| The grasshopper is tired out of fun. He takes rest at ease beneath some pleasant weed. (Join inty
complex) '

Ans.

*5.| On a lone winter evening the frost has wrought a silence. From the stove there shrills the crickels
song. (Join into complex)

6. | It is a lone winter evening. There shrills the cricket's song from the stove. (Join into simple

ﬂ.l The grasshopper is tired out of fun. He takes rest at ease beneath some pleasant weed. (Join int
' simple) '

Ans. : : —

*S.I One is half lost in drowsiness. To him the cricket's song seems to be the grasshopper's among som¢
grassy fields. (Join into simple)

Ans. P

o Split the following sentences :
1. | When all birds are faint with the hot sun and hide in cooling trees, a voice will run from hedf
to hedge.

Ans. e
«2.] When tired out of fun, he rests at ease beneath some pleasant weed.

Ans, ‘ p——
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W Y, T PoETRY OF EARTH

,3,' On a lone winter evening, when the frost has wrought a silence, from the stove there shrills the
cricket's song.

Ans.
o Do as directed :

,,_2.-' The poetry of earth is never dead. (Turn into affirmative and interrogative)
:\ns'

_U The poetry of earth is never dead. (Use the verb form)
Ans.
2._‘ When tired out with fun, he rests at ease. (Make it simple)
Ans.
i.l He rests at ease beneath some pleasant weed. (Use the noun form)
Ans.

*:il He takes the lead in summer luxury. (Use the verb form and rewrite)
Ans.

E'—l He takes the lead in summer luxury. (Use the adjective form)
Ans.

iT.J When all the birds are faint with the hot sun, they hide in the cooling trees. (Make it simple)
Ans.

_8._' That is the grasshopper — he takes the lead in summer luxury. (Make it complex)
Ans. '
'il The poetry of the earth is ceasing never. (Turn into affirmative and interrogative)
Ans,

+10.] He has never done with delight. (Make it interrogative)
Ans.

PJ It seems to one is drowsiness half lost, the grasshopper’s among some grassy hills.
(Use the adjective form)

Ans, .

&I It seems to use one the grasshopper among SOme grassy hills. (Use the noun form)

Ans,

Q LR SN ORREEBDSIONS 7
" © Fill in the blanks with appropriate articles and preposntaons : -

J When all birds are faint hot sun.

ij A voice will run hedge —___hedge ______ the new-mown mead;

3.] Thatis __ grasshopper’ he takes —_lead _________ summer luxury.
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H.S. Grammar QuesTion Bunch (For Cuass-XIl) o i with fun,

v

] ~_ when tired
4. | He has never done —— his delights; —

5. I He rests ~_ some pleasant weed.

6. | When - frost has wrought ———— silence, ——
cricket’s song. one ————— drowsiness half Iog
7. | —————— warmth increasing ever, and scems '—-—'—"_"" D ———
L @ OF RECTIONIDEEC HOE SO Py
© Correct the errors in underlined words choosing appropriate « es ;
_u The poetry of earth is never death, (dying/ died / dead)
_2-_1 And hide in cooled trees. (cold/ cool/ cooling)
_3_-_] He takes the lead is summer luxurious, (luxuries/ luxury / luxuriant)
i] The poetry of earth is ¢c0s¢n never. (censing / ceased / ceases)
_5-_I He rests at ease beneath some pleasing weed. (pleasure / pleasant / pleasureful)

6. | The fost has rought a silence. (rot / brought / wrought)

[ OB CM T OIC O Ve TION ]

O Choose the correct alternatives :

- CASC —

the stove there shrijj e

r

-
- John Keats was— '
| A

.. 'a) a Romantic poet [ ] (b) an essayist [ ] (¢) a painter [ ] (@) a musician []
. -, "The Poetry of Earth’ is written by—
., 2 Wordsworth [ ] (b) Shelley [ ] (©) Keats [ ] (d) Byron O
L) ‘The Poetry of Earth’ is—
(2) an elegy [ ] (b) a sonnet [ ] © an ode [ ] (d) aballad [
. », The poem is—
(a) a Shakespearean sonnet [ ] (b) a Petrarchan sonnet O

_ . '¢) an English sonnet [ ] (d) none of the these D
-, The rhyme scheme of the octave is—
, ., (a) abbaabba [ ] (b) abababab [ ] (¢) ababbaaba (] (d) abababba ®
| ©. ; The rhyme scheme of the sestet is—

., (a) cdcdee | (b) cdecde [] ©

- L ccddee d edcded
Lﬁq In the octave of the poem we find the music of— D W) o D
___ (a) winter [ (b) summer [ ] (¢) autumn . .
L:s.] In the sestet we find the music of— g [] (d) spring . O

. (a) winter [ (b) summer ] (©) aug -

4 L mn .

% | The music of summer is presented through tJhc voice of— [] (d) spring O
. (a) cricket [ ] (b) cuckoo [] © grassh :
LIITJ The music of winter is presented through thg songgrz?__opper [ | (d) parrot O
. (a) cuckoo [ ] (b) cricket (c) -

[‘-_: The music of earth never— (] grasshopper . ] (@) myna O
 (a) exists [ J () changes [ ] © ceases [ ] @) bores o
[ 4 . ‘]
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.the poetry of the earth’,

t

B:v {he MUSIC of the birds e me"‘ﬂf:‘

| a soDg about thf: earth _ . (b) the poetry of people ':j
F The gr&sshupper 1S fljit‘)ciated with the se;_‘;:n o i gl U 5
7 a) winter v (b) aumump — I“IBCHSE—'MMI
1 rhe birds hide in— : . (©) summer [ 1 (d) spring ]
; ) shades of trees - [“'BCHSI:’-—'ZUJ-Z&

) cold trees = (b) shadow of trees -
7 The birds hide in trees because of— . (d) cooling trees -

(a) ﬁr&dncss - E (b) rain ™ e —

‘_Tah): -;;:ice mentmnegﬁl}e:—;) i:hethe i 0}[;—_;? (©) cold [] (@) heat :_—_,.

; ; Y. s P paet ] (¢) a grasshopper [ | (d) a cricket -
U ‘{;;h;et::::mzle lead”—Who is ‘he’? He 1% g [WBCHSE—2018] __

(o) the cricket ] tgl the grasshopper =
4 The grasshopper takes rest when it is— N Dot it
~ (a) tired D (b) bored D (¢) pleased D (d) worried [—]
B Being tired, the grasshopper rests beneath— umcnsz-:-—:uiw

(a) green hedge | (b) bushes [ (©) pleasant weed [ (d) grassy hills O
U The voice of the grasshopper represents— —

(a) gloom 1 (b) sorrow (] (©) mirth ] (d) despair E
B sccording to Keats, the music of earth ceases— [WBCHSE Sample Question]

\a) in winter [ ] (b) in summer -

(¢) in autumn [ ] (d) at no point of time J
B The silence in ‘The Poetry of Earth’ has been wrought by— [WBCHSE—2015]

(3) summer (] (b) winter ~ [ (@ frost [] (@ rain -
44 The ‘poetry of earth’ is— o

(a) pleasant ] (b) unpleasant - [] (©) constant (1 (d) loud M

The winter evening is ‘lon€’ because— . _

(4) the poet has no company [ ] (b) there is silence all round ]

(¢) there is frost [T:; (d) it is cold L]
The cricket’s song— )

() pleases everybody ; j‘ (b) breaks winter’s depression [
H (¢) makes people angry - * (d) is disliked by the people [ ]

The “cricket’s song increases with the increase of— '
[:] (8) eold ] (b) lonliness "] (¢) happiness [ ] (d) warmth ]

The cricket warms the frost with its— -
(o) dance ] (b) movement [ (¢) music ] @ ay .
{4 The cricket’s song is heard from— —

(@) the hedge - (b) the hiding place -
() behind the fire place " | (d) the new mom mead []

One is lost in drowsiness because of—

() the bad weather L) ) 5€ dark nfght “ | (€) tiredness (7] (d) loss of sleep [ ]
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-3 n drowsiness ?

. i HU“ d()es the Cl'icke['s song appear to the pt'rm" hﬂlf lO.St i
'2) sound of bees [ ] (b) a lady singing

= : of swa]low

(] (d) of chirp BCHSE S €
[WBCHSE Sample Queyy;

I;rf

—~r—

% ‘If’ the grasshopper in singing
"4 The sonnet follows the following pattern—
(a) octave + sestet

(€) sestet + sestet + couplet

-

"1 (b) 3 quatrains + couplet N
| — D
[ | (d) none of these 3

Question]
] (d) none of these
[WBCHSE Sample Queg,

The symbol used in the poem to signify poetry/WBCHSE Sample

e (a) cricket :__: (b) grasshopper [—j (c) mUSiC
What does Keats celebrate in this poem ?

(2) here, Keats celebrates the music of the earth :N'
(b) here, Keats celebrates the grasshopper L
(€) here, Keats celebrates the cricket Ly
+—— ‘9 none of these Q
[ ‘ Keats finds inspiration in— [WBCHSE Sample Questiyy
(2) poetry [ 1 () nature [ ] (¢) language " | (d) none of these 0
’ —_— — — ——
L SHORTMRANSWE IR P ERQUESTIONS D
: e e : —d
O Answer the following questions :
1. | Who is the poet of ‘The Poetry of Earth’?
Ans.
*2. | What type of sonnet is the poem ?
AnS.
3. I What are the rhyme schemes of the octave and the sestet ?
Ans. i
4. I What does Keats celebrate in the poem ‘Poetry of Earth® ? [WBCHSE Sample Question]
ns.
5. I What is the predominant theme of the poem ‘Poetry of Earth’ ?
Ans.
6. | What do you understand by the phrase ‘The Poetry of Earth’ is never dead ?
ns.
7. | Which seasons are mentioned in the poem ‘The Poetry of Earth’ ?
ns. — - TS IR
8. | Which insects are mentioned in the poem ?
ANS. —— B
9, | What does Keats mean by “The Poetry of Earth’ ?
¥ I'IS. —
10.| Who are the carriers of this music ?
ANS. e
»11.] Where do all the birds hide in Keats’ “The Poetry of Earth’ ?
ns. : Iy
+Or,] Where do the birds hide when they are ‘faint with the hot sun’ ? [WBCHSE-2019, 2016]
ns. r— - 4__.--/
et
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How 1§ take regy 9

|’;_ /’—._ . \
" who sings n Brassy hills ?
rlj'

—_—

‘ﬂ." . - n__ A D
« a voice will run."—Whose voice i referred e
5 ed to hers ? [WBCHSE=2015]

. //t-c-i-c:es—ﬂle voice speakif_-.__—_"—'—‘_~—-—_
. al (8] ln K LIt —————— e e e — -
» v cals” “The Poe"y of Earth’ ? [WBCHSE Sample Um'\!mnf

{8 -""'_-__f i -
G which season does the grasshopper represen( ?

18 e i

] Who is taking the lead and why ?

. —

me takes the lead in ‘summer luxuary’ ?
ns

[WBC 'HSE-2015]

B amm— S
-ﬂ Where was the grasshopper seen in summer ? IWBCHSE-2017]
{18 —— P
M Who ‘has never done/with his delights® ? “ [WBCHSE-2016]
108, —

2] What does the grasshopper do when it is tired ?

\ns. ==t
_1_1] Where does the grasshopper rest ? [WBCHSE-2018]
{ns, _ B
r’_’] Who breaks the silence of winter ?

Ans, -

'__] Whose song does the poet talk about in the octave ?
ins,

ﬂl What has wrought a silence in winter ?

s, =
'&I From where is the shrill song of the cricket heard ? [WBCHSE-2018]
Ang -
'is,'l What might one hear on a lone, cold and silent winter evening 7 [WBCHSE-2017, ’19]
Ans, -

e ———

'iﬁ;l What does the person ‘half lost’ in drowsiness imagine ?
g, I

‘E'] What seasons do the grasshopper and cricket symbolise ?
15,

—

,‘\iil What does the cricket’s song

seem to ‘one in drowsiness half lost’ ?/WRCHSE Sample Question]

: i estet of the m ?
’E] What similarity do you find 10 the octave and § poe

——— -
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Ans.

cease 7

M When, according to Keats, will poetry of earth m——

———

O Answer the following questions :

]

*3

i

ENENEIE

-

£

rnate ustify that the poetry of canyp, "
What is meant by “The Poetry of Earth’ 7 How does Keats justity o ek _MU’"-

dead ? N 7 What do they de <
"When all birds are faint ..." — When are the birds faint and why / b Lhe".”“

is the poetry of the carth sounded in their absence?

Or, Where does the line occur ? What do the birds d? tht:’ l wi
"A voice will run"— Whose voice is referred to here? Where
voice contribute to the poetry of the earth?

Or, Whose voice is referred here ? Where will the voice run'? Why
does owner of the voice do afterwards ?

" ”; a7 .
"..takes the lead"— Who takes the lead and when? How does he take the lead? 1]

"He has never done with delight"- Where does the line occur? Who is referred to as 'he’? By,
the line with reference to the context. I+l
"He rests at ease ." — Who is referred to as 'he'? Where does he rest and when? How 4,
he take part in the poetry of the earth? I+
"“The poetry of the carth is ceasing never” — What does Keats mean by the poetry of the e
Explain the quoted line with reference to the context, [WBCHSE Sample Question] |-

Iy

Who come out and how 9 n
1l the voice run? Hoy Wil
Iy

does the voice ryg W,
T4ly

Or, Show, after Keats, that the poetry of earth never comes to an end,
IWBCHSE- Sample Que
Or, How does Keats show that the poetry of earth never cease 7 [WBCHSE-Y

"-- when the frost has wrought a silence” — Where does the line occur? When has the frost WIS,
silence and how? What happens then? J+2

"...and seems to one in drowsiness half lost” — Where does the line occur? What makes him &
lost in drowsiness? What seems to him and when? [WBCHSE-2015) 141~

What picture of the two seasons does Keats draw in “The Poetry of Earth’ 7 How are the ”
seasons related ? »

Or, What picture of summer is presented in “The

the picture of winter ? Poetry of Earth’ 7 How has it been calbdm
e pictu .

IHL’(.H\I_-MM: ,
Comment on the title of the poem “The Poetry of Earth' S :
Why does Keats feel that the poetry of earth is never dead 7 [WBCHSE-21° ¥
Identify the voices of poetry in the poem. How does Keats establigh continuity through these voi?

[WBCHSE Sample 97
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